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1. Genetic FIreIling i%

fal apalysis of DHA to check the
preacnce of A particular cene o a
peetaan

rb,i analysia of peoe 11 a population
re} pedigree anahysie

(d}  screening of infettility in parents

2. Which of the following are the majr
factars responsible for the monsouoh
e of climete in India?

1. Location

2. Thermal contrast

3. TDpper ar citculatian
4

The Himealayan Mountaine

Jelect the cotract answer using the cods
given belowe.

a1 and 4 anly
w1 2 3 and 4
fof 4 3 and 4 only

fdp 1,2 and 3 onlr

a. Oongider the follawing Indian States :
1. Chhattizsgarh

Telangana

Andhra Fradesh

Mtarakhaid

ook WM

Tamil Madu

B-ABVE-{r-IMO 1A

Which emong, the States .gwi:n above
ate the largest and shnallast respactively
[im terme ol grographical atea)?® -

fal 3 end 4 aty es
fb) % and 2
et 1 and 4

- -

) 2and 5

4. Whoe among the followinog is considered

as the father of peoelc engioseritze?
ol Phitip Inr-i;nr:q;r\

f]  Paul Berg

fct Thomas Addisen

id) Alpheus 5. Packard Je

E. Which of the following cause|s} varation

it the genetic Material of progeny?
1. Sexval reproduclon

2. Asexual nlrle plrudu::tiﬂn
3. Mutations

4. Epigenetic changes

Select the carrect anawer uaing the code
#grven below,

fal 2 ocoly *
il 1,3 and 3
el 1,3 Eru:l_-#

4

@l L and 3only
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&. Macch List-[ with Lisl=Il and s=elect the
cirrecl anawer u3ing the code given
helow the Lisis -

List-f List=1T
{Plens) (Natural pegetation tpe)
4. Ebony 1. DBboist deciduous
B. Shishamn 2. Himalayen moist
C. Walnut 3. Alpina
D. Birch 4. Tropical evergreen
Code :
f@d &4 B € D
4 1 2 3
ffy &4 H © D
4 2 1 3
fef A B © D
3 2 1 4
i} A B C D
3 ] 2 4

7. Cobalt 15 associated with
fal  growill hoooooe
ft)  vitamin B,-
{cj  hemoglobin
fd}  intestinal snzyvines
B. Absarption of water in the human body
can e found in
1. renalb tubule in kidney
2. heparic cells in liver

3. large intestine
4. paEbcreatic Jduct

Select the correct apswer Uity the code
Zivens below,

fal 1, 2 and 3
Bl 1 end 3 only
fef 2 and 4

iy 3 anly

E-ABVE-O-JMU/ 1A

9. Match List-] with Lisi-ll and sclect the
oot anawer using the code given
below the Lists

Lest-T Las1-f1

Wreatogioal Rre soale) {Life-form)
A. Plisrossne 1. Memmels
B. Falcocene 2. Hunen genus
C. Permian 3, Itwertebrates
. Cambrian 4. Frugs
Code
fal A C i)
2 1 3 3
Ml A B C D
2 4 1 3
o A B C o
;| 4 1 2z
[ A B C D
3 1 5 2

10, Measles is a dlscase caused by
faj bacteria
R viras
fc}  protozoa
fd} worm
11. Neutrophils and hmpheocytes originate
from
faf kidney fmhule
fb} Epleen
fe]  Bobe marroew

fd)  Iyroph nede




6. | #i g1 % et #ifm e

A ¥ G B o= = o R o
T

-1 THEt-n
(GTEm) { TREE T )
A, MTETE 1. #= ot
B. ¥mm 1 il
{. ATER 3. IR
L. o 4. IO HERAE
T
fal A B (! 0
4 ] 2 3
fhl & B £ D
q 1 3
&l A B C D
2 2 1 4
jd4 a B C D
| 1 a ¢

7. wiEwe gaftn
f) T FEE A
fo) fomPm B, ®
je EmEATE B
jed) A TARE H
A, HEY YR S 3 s E T R

L. = H TEE T A
2. TEA § TEdm wiftmed i

3. FER Y

4. ey e a

¥ u o gz w owm I g
fa) 1, 2 2R3

bt w=E 1 3R 3

jo) & Hm 4

fd) T 3

B—aABVE-O-INO S 1A

o, -1 F g0 F oww gom fifsm i

gl o A= B T 2 W A T
B

eft-1 wdi-11
{ i T wToTe) {Sfi=-%m)
A, AR 1. =
B. URmrE 2. WA A
C. A 3. armanfl
. e 4. TEF
L
ja) A B D
2 1 dq 3
A& B © D
2 4 H 3
il A B O D
! d4 1 2
fdi A B Z B]
2 1 5 2
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[ty T
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fely i
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td e ®
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12. Match List—1 with List—fI and ==lect the
correct enswer uiding the oode given
below the Lista -

Lizst-I Lesi-ff
folimaztet [Charactenstic}

& Mediterancan 1. Temperacure oycle is

meodetated by matne

influence
5. Menne weat 7. Warm aumimers A
ol cold winters with

three monthe Below
Iteering. Verr larpe
annual temperature

TRhge
C. Dty rmud- 3. Btrong tomperature
latitude cycle with large

anoual rapge, Warm
slmmers W hoet and
cald winters 1o very

cald
r. Maost 4. Temprrature TADEe ia
tontnental maklerake wWilh warn
to hot summers and
mild wintars
Code
il A B L D
2 1 3 4
iy A4 B © D
2 3 1 4
i/ A H <& D
4 3 1 2
id A B C I
4 1 e 2

13. Match List-I with List-J] apul select the
correct anawet uming the code given
Befows the Lists :

List-] Ligt-iT

{Weathering fype) ilavtidform,’
Frocees)
A. Chemical weathering 1. Til
E. Mrechanical weathoring 3. Oxidatien
¢, Glaciel deposits 3. Plant yoots
O Depoaition by ground- 4. Stelactite
weafer

B-ABVE--JTMO LA

Code

fal & B i I
2 K] 1 4

Bt A B D
2 1 3 d

fal A B < 4]
4 1 3 P

fdl A B L (i)
q 3 ] g

14, The mandat= of the scheme entitled
Directly Obsarved Treaunstt, Shart-
Course (DOTE]* launched by WHO s to
ez that

gl dockars  treat patlents  with
taedicine for g short duration

fi) doctors do Dot starl  Hrestment
witheul a tral

fr} peHente complete their egurse of
drug

fdl patients voluntarly teke vaccines

1%. Haship has to go from Chennai to Kochi,
it has to go around 20 Lanka rather than
croasing through the Palk Strait. Why?

fal The Palk 3trast bhas disputed
istands and the 50 lankan Havy
does not allow the ships 0 Cross
through

B Itiz teg shallow for shlps to cross

ot Shipping 1% prohibited through
the Strait due to itz religious
significence  connected with  the
epic Humayans

{) The around S Lanka route is
actually cshorter thao crossing
through the Pallc Strait
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) A B c b
y. L K| 4

oA B C D
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4 3 1 p
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yia & dré fin oo gz | wh o w6 am
i

-1 -1
(sTaern ) {7 gt wiem)
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fa)

fixl

fic)

fcd

A =] L D
2 a 1 9
A B [ L
2 1 2 4
A B i L
4 1 K 2
A B e W
4 3 1 2
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et}

e
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16. Panicillin inbibits synthesis of bacterial
fel cell wall
b} protein
m RKA
idl DMNA
17, Which of the ollowane State capitels of

Noteh-East India is/are connected by
Indian Railways?

Imphal
Apartala

Kohima

N

Aizavl

Select the cotrect answer using the code
given boloss.

faf 1,2 and 3
B 2 and 4
el 1, 3 and 4
il 2 only
18, Most antibiotics target bacterial prragitcs

intctfering  with various  factors  of
growlh vr metabohsm such an

1. s=ynthesiz of cell wall
2. bacterial protest symthesiz
2. avothasis of tuclear membrane

4. mitochenidnal fuocuon

Sclect the cotrect answer usiog the code
given brlow,

fal 1, 2 and 3
fi) 1 and 4

fef 2 and 3 only
felll 1 and 2 only

B-ARVE-O-IMOf 1A

19, Match Lisi-1 with List-11 and setect (ke

=R RS

corrept answer using the code piven
helow the Lists :

Last-] List-II
(Reagran f {State)
Baghelkhand 1. West Bengal
Kuttanad 2. Madhya Pradesh
Saurazhtra 3. Kerala
Rark 4, Gujarat
Clemde:
jeed A B C D

2 3 < 1
WA B C D

2 4 X! 1
it & B C D

: 3 4 2
4 A B T D

1 3 3 2

20, Whirh of the Rllowing stalements with

regard to Portland cement are garrec|?
1. 3ilica imparts strength (o remend.

2. Alumine makes the cement quick
e8tting.

3. Execas of lime  jocreases  the
slrength of cement.

4. Calcium sulphate decrgases the
initial aetring (nhe ol cement.

Felect the correct answer uaing the node
piren below.

fab 2 and 4 only
fB) 1 and 3

fof 1, 2 and 4
)y 1 end 2 only




16, iR @ R deem fiim g v
tal ST i Tl
(bt FACEF WA
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41 fy e gz A e = w I A
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ki
-1 w11
() N L
A, TEEETE 1. w8
B. F3R 2. I FEN
C. g 3, d
L, ot 4, AW
L o
) A B © D
2 3 4 ‘1
fal A B C D
2 4 3 1
2/ A B € D
1 3 4 2
fdl A B L o
1 4 i R

0. GSy @iz % g § P 3 A -3

o W A7

1. Tl iz =t ey mm e

o, ighen # il %1 3 WA £m R
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¥
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(1 ER3
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21. Muatch ListT with Lizst=If and selact the Code ;
carrect answer using the code given
Ietow the Ligts ; : il A B C D

List-f List—{f 2 4 1 3
fTity) (Barthquake rone) b A B o o
A, Kolkate i, Zone V 2 1 4 3
B. Ouwahati 2. Zonpe W
T Delhi 2, Zone III fef A B & D
D, Chennsi 4, Zome I + 01 4 2
Code fdf A B ©C D
fgl A B © D 3 4 1 2
a3 2 1 4
fef 4 B C D 24. March List-I with List=Il and select the
< 1 2 4 correct answer using the code gieen
f} 4 B ©C D helow the Lists -
4 1 2 K
@ A B £ D List=7 LitdIT
4 2 1 1 (Expanent) Larer}

22. Red phesphores is used in the A. John Dalton 1. Law of definite
manufacture of safety marches. This ia proparuon by
due to the fact thar yolume
(@l it shows phospharescence B. Joseph Proust 2, Law of multiple
fh} Bt ordinery temperature, it is lass proportion

reactlve than other wverietiea of
phoasphorae C. Antoine Lavoigier 3, Law of definite
fed it cennot be conwverted to white proportion by
phosphorus oh heating waight
fel} it doas not react with halogen en D, Joseph Lauis Qay- 4, Law of conactva-
heating Luasac ticn of mass

23. Match List-T with List-1f and select the Code -
correct anewer using the sade given '
below the Lizts !

. . fal A BE ¢ D
Lige[ List—iT n 3 4 1
Lake] L)
A&, Ashtamiudi Keyal t, Fesidual {swest W a B C @
watber) 2 4 3 1

B. Hi.ma.y-':'l.t S-agﬂr 2. .[.-'Hgﬂ{ll.'l fgl A B C 0

C. Dal Lake X Qlacial 1 4 3 2

[}. Teomgo Lake 4. i:i?:]lal [aweet i A B C O

1 3 4 2

B-ABVE~O=JIMO/ 1A 10




21, T=-1 & gH-n % wm gfm Fifar @e
ghra % I frm 3= = owmin = W T

- w11
{7 (=T )
A, ERIETA 1, #A W
E. TEER] 2, AR IV
o, T 3. #A N
D. 4 4. WA O
e
[ar oA E C )
i o2 1 4
il A B3 € D
K| 1 3 4
el A B LD
q 1 2 3
M 4 B ¢ D
4 2 13

22 Sqm RYTHER fOERAT § wid wERER A
TR 7 & i T A F T )
). T TEATL femm 2
fb) HMITM WO W, T SRR R A
. T B = iR P ¥
ol TR AR T T AT e 4 i
Eiale = e
fdf WA ST O TR pod ® i e

EN
23, gA-1 | - F omy gitam difer afm
w=i-1 TRt=Il

{3} (W)
A, AROE FEA ). dEEE (R T
B. T wen 2. A
C. Tm Hin 3, e
n. I e 4. FEm {dar 9}

B-ABYVB-0-TMOf1A
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L o
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24. T F gl F o gl difm e

A=
T
-1
(AT
&, o EFA
B AFE W
O, WFEl Tt
D, A% g A-TEH
5
@ A B
2 3
it A B
) 4
il A B
| 1
i A B
1 3

=

L
£ &

L R

oo

=11
(e}

¥ 7 B o = W wn = oA T

. MREA -2marim e

sy w1 Fre

. TR AT
. wp- st Fidm

HE":IIH w1 Em
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b
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25, Match List—l with List-IT and select the
correcl anawer uzing the code given
below the Lists :

List-I

(Farming areaf

A

=
=
I

Croab
Char
Maidan

Teral

Codde
fa}

fh)
fcf
{d

£ R P LB W
B =@ - m

ol L v I B

W wpo & &

List—[T
{State)

AEsam
Karnataka
Punjab

LMoy Pradeeh

26. Which of the [allowing is rot gaseous ar

2T,

¢ oo om o

Peoliukant?

fal] Oxides of suiphur
i Oxides of pitrogen
fe]  Hydteearbon

(d} Bmoke

bacch List—F with List-IT and aclect the
cImect answeér using the code given
below the Lisks .

Ligt-]
[Steel mifly

Kalinganagar
Vijayanagar
Salem

Durgapur

E-ABYB-O-IMCS 14

nal N

Desr—1Y
{&1tet

West Bengal
Tamil Mardyy
Crdisha

Eametaka

12

Crade
fad A B C o
t 4 a |
fhl A B i I
1 2 4 3
fed A B C I
3 4 2 |
g A B C D
3 2 4 1
ZX. Which obie of the fn]]nwi'r]g staternents ig
hod correct?
fa} Water starts beiling when its

fiay

)

fidy

YEpOUT presaurs becomes cqual to
amngspheric pressure.

Water 1% known as  utuverzal
solvent.

Permanent hardness of waier is
due to presence of MaCl,, CaCl,,
Mg50, and CaS0,,

Density of ice is graater than that of
waler,

29. Whach one of the following is the patterg
ol circulation atound a low-pressure
area in the northern hemisphere?

fif
iy
fet

e}

Counter-clockoaise and away from
the centre

Clockwise  and away from  Lhe
centre

Counter-clockwisze and torards the
Centre

Clockowise and towerds (he centre

d40. Which one of the follawing is not true for
diemand?

fex)

ity

i

f}

Each carben atom iz finked o four
ather warbon setome

Three-ditnenaionel network struc-
tare of carban atoms is formed

It ia used as an abrasive for
sharpenung hard tonls
[t can Be osrd ag a lubocant
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25, yE-1 W gA-0 F wm gifae EfEm e w2
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it i1 W & B € D
(eft dr) () I 2 4 3
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4. TIFTA 1. #wm 1 4 2 |
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4 1 2 3 T FE P
d A B € D ey W F T WG F W A s B
g = 1 3 Y
26, frfifior 3 & oo, e g wgue o 1 25, Pefafmn 3 3 oh-@ oF, =l oo &
fa) HEE ¥ RS 307 4 % i afE ) i A
) TR HieEgE jap amwEd AR FE AR
fe} PR (b EETED M FRA g
fedf o o} TTHERT R FE o) A

fd) Ehead s dg o) i
30, ¥ ¥ Rm Eofafma 4 2 39w o om af

27, Tl ® Rl & ome ghioa Fifm s

g & 9 P o R W T s o
afi ; wt

e o o e e o, o

mrmmadi 8w

(e o) (=} By T T 6 -fd
A, TP 1. Tiem e T T R
B. fymmm 2. Aty i) TEF TR AR A oup st F
o e 3 3ife TT0 AP =& w0 o fFq 2

e} TR MMM EEE R W R T om@

D_gﬂgt 4. FAEF e
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31. Which one of the [llewing statementa
ahonit the stmosphere i3 comrect?

fz) The atmosplwre has definice wpper
hmits buat graduaally thins until it
becomes itmperseptible.

jbf The atmosphere has no definite
uppet lumits but gradoslly thine
untid it becomes imperceptible.

ic)  The ammosphers has definite upper
limits but graduslly thickens unotil
it becomes imperceptible.

fdi The atmozphere has ne delinite
upper imetz bat gradually thickens
until it becames imperceptible.

32, The atomic theory of matter was [Arst
propoasd by

fel Jahn Dalton
(b Rutherdord
fcy J. J. Thomseno
2] Niels Bohr
33. Which one amotg the fullowing statements
about disstruphism is correct?

fef The forcea may be so slow and
gradual thac they poss unnoticed
for a lnng petid of Lme.

(B} The forces miay be both slow and
siudden that they paas ler 2 shorl
penod of Hme.

ict The forcea may be zudden and so
faat thet they pass unnoticed for g
leng erlod of time.

fd} The forces mey be slow bal far g
shart period of time.

E-ABYE-C-IMOf 1A

4. A body is falling freely under the action of
gravity alote in vacuum. Which one of
the following remains conzuant during

the fall?

faj Potential energy

M Kinetic eneray

fcl  Total linoar momentdom

fdf! Toral tnechanical energy

A3. X-rays are

el deflected by ao electmic field but net
by & magnctic ficld

ft) deflected by A magnews fisld bot
ot by an electoc field

fof deflected by hoth o magnetic dield
and an electne field

] not defllacted by an electric field or
A nlagnstic feld

36. Which nng of the lollowing minerals
contains mostly silica?

jof  Mica
T Quartz
fol  Olivine

i) Pyroxene
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A7. The focal leogth of the lens of a nommal
human eye s aboul

fe! 25 cm

B §m

[ci 25 mm

A 25 cm

38. Wiich one of the following staterments
ia cormmaci?

fal Cold Eronts move ab slower rete
than warm fronts and therefore
ratnof avartales the warm fronts.

Ml Cold fronls notmally mave Easter
then warm fronts and therefore
frequently  owerlake the warm
fronts,

fel Cold fronts move at slower rate,
and eventually they are svertaken
by 1he warm ffonts.

fdl ol fronds move fBater han wa e

fronta byt they canmnot svertake the
warm fronta.

J9. Which one of the following physical
quantities s the same for molecules of
all passs 6t a given temperatare?

2 Speed
(b} Maas

[} Kinetic emergy

[ Bomepnbm

B-ARVE--]nliy 1A 16

F). Newton’s laws of motion do net hold zood
for objects

[ at rest

B moving slowly

el moving with high velority

id]  moving with velooity comparable K
veloimty of light

41. Which of the followng elements sre
found in bighest and lowest quantiries
respectively iy the crnlst of the sarth?

fal  Oopgen Bnd silicon
fhl  Caleivm and sodivm
fe)  Sodium and magnesiom’

fef)  Oaoypen and magnesinm

42, Which ane of the ollowing stetementa is
rol correct?

fa) Weight of & body i3 different on
differenit planots.

M Mass of & body on tha earth, on the
moon Bnd N empty space is the
S NE:.

fc/ Weightlessness of @ body occurs
when the gravitational forces acting
on it are counfer-balanced.

fdl Weight and mass of a body are
equal at sea Jeve] oo the sudace of
the earth,

43. A brick is thrown settically frora an
aircradt flying tero kilomneties alwowe Lhe
carth. The brick will [al]l with a

fai constant speed
{t constant welocity
fc}  ecanstans accelecation

o constant speed for some firme then
with cotatant accelemtion es it
nears the aarth




37, Tl T oArE wim % dm S wEm gt
T TR A F Y

(@l 25 cm
fhi 1 m
el 2-3 mm

fdy 2'3 cm
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44. Thie item conzists of two slatements,

Btatrment 1 and Statement I1.
Statement 1 ;

The Hurcshio is a warm narth-flowing
ccean cutrent on the west side nf the
NHorth Pacific Oceat.

Statement [I ;

Frazence of a number of volcancea at
the bottom of the Sca of Jupan i=
reapanaible for the Kuroshio ecoming
warm.

Bxamine these two statements cavefnlly
and select the sngwer tu the item uaing
the code given Delow,

CCoede ;

fa} Eoth the statements are
individually true and Statement T
ism Ethe comect  explenation  of
Etarement [

fi! Both the statemenes are
itdividuelly truc hut Sratement [0
ia mot the correct explahation of
Statement 1

foy  Statement 1 ia true but Stateoaent 11
iz falam

fel}  Statement Tis false but Statenient
i true

4%, The outside rearview micror of modern

avtomobilea a3 marked with wRming
‘objects in mirror are cleser than they
appear”, Such mirrors are

@ plane mirrors

My concave mirrors with wery large
local lengths

fob  concave mirrors with very  small
focal lenptha

il comwex miTTorE

B-ABVE-O- JMO/J1A
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6. A Bill is deemed 10 he 5 ‘Money Bill' if it

has any provizions dealing with

1. imposition, sbolition, remisgisn,
alterution or regulation of any tax

2, approprirtion of mooey from the
Coneaghidated Fund of Tndia

3 imposition  of fines  or  other
pecuniary penalties

4.  payment of fee for icences or fee for
service rendered

Select the correcl answer using the code
givery below.

jeif 1 and 2 anly
b 1, 3 and 4
el 1, 2 and 3

fdi T only

#7. Consider the lollowing statements abouat

Alauddin Khalji"s market paolicy :

1. He placed markets under the
contrel of & high officer celled
‘“Shahna® for siectly controlling e
shdpkeepers and prices

2. [narder bo enaure A regllar EIJ.FI::I]].-'
of cheap food graines, he vrdered the
land revenue from Doab region to
ke paid directly o the Btare.

Which of the statements pgiven shove
i3fare correct?

i 1 only
M 2 only
fcj Both 1 and 2

feli Meither 1 noe 2
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fal AR 1 a2
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fd) a2

47, WAL fEeer Hi oaman iy ® owm A

Torerifien vt v BEm Fife

1. zwEm o ofted Fowed B fatm
wH % Bm oawd 3ET A TR e
7= it % T

2, TR OER T i ol ot el s
o 3R smEm T & S 23 1
Y- A AT R T o R
£

T weAl T # #HE-m 8 T R
fo) ¥ 1

fht R 2

el 1 a2 A

@ AAr 1 dmadr 2

[P.T O

—— .



48. Which one of the following is rot a patt of
geTvice sechor inm 1ndia?

fal  Transpart

(bl Construction

i} Hotels and restauranots

id)  Insuwrance

48. Which of the flluwing isfare awt
cenfral feature(s) of Article 343 aof the
Constitution of Tndig?

1. Hindi in Devanagar Scripl #hall be
the netonal languape of the Thiden,

2. The offigial languapge of the Univo
ahall be Hindi in Pevanagari Senipt.

3. English lanpuags shall continue to
be vaed for ufficial purpozes wilhin
Stales.

4. [l two or more States agree, Hindi
lanpuage should be the official
latymaage of comimunication
Detwern the States.

Select the corrent Answer wsing the cpde
piven below.

fal 1, 3 and 4
foal 2 and 4 only

ey 2.3 and 4

4] 2 only

E-ABYB-O-IMG/ 1A
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B0. Barch List-1 with List-Il and select rhye
cormect answeér uming the code piven
Blow Lhe Lists ;

Lizt—{ List—{I
(Tern) (Mearing)
&, Mihrab | Seepped pulpit
B. Mimbar 2. Direction towards the
Kaba for prayer
C. Khutba 1. Arch
. Kible 4. Sermon
Code !
fap A 3+ L )
2 1 4 3
fal A B C D
' 9 L 3
1 I I i D
3 1 4 2
A ©#oc o0
3 4 1 i

51. Under flexdble exchangs e system, the
exchange rate is determened

fal  predomioantly by rarket

mechanism
fal by the Centrel! Bank

fe}  as a weighted index of & group of
CUITENCIER

il by the World Trade Organization
52. Aler the general elections, the Pro e

Spraker is

{a} elected by the Lok Sabha

i} appainted by the Preaident of India

fry  appointed by the Chief Justice of
the Supreme Courmt

the =enior most member of the
Lok Satha,

fetk
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a3, Match List=1 with List=[1 gnd select the

= ¢

cotrecl answer usming the code given
elow the Ligts :

Last [ List-If
[Persant { W)
L'dJancda 1. Sudhesidhc
Sarana 2. Malliemaruta
Yadavaprakasa 3. Malatimadhavo
Bhavabhuti 4 Voiyonh
Code

) A C Dr
2 1 4 3
A L - I
3 4 | 2
A B ( D
2 4 1 3

i A B C D

3 1 4 Z

S+ Which one of the following is st cormect

in the concext of industrial clusters
devclopment in India?

i) Industosd  clusters play an
mmpeclant role for the MSME
participants in their inclusivencss,

technology abserplion and efficiency

im provement

My ipdustoal clusters are visible 1o
traditionel handloom, bandicrafts
and modern 3ME

(i Industre] cluster Programmmes o
indis are administered by smrioua
mitiatriea

i) ladustesal  clugters lead Lo

promotion of monopoly in the
market

B-AEVB-JMO 1A
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85, Match List-I with Lizt-IT and seslect the

correct answer usng the code gien
Below the Liats

Last-I Lagt=I]
(Leader} (Party}
A, Shyuma Prasad ). Communise Party of
Mukherjee India
E. Minoco Mazati 2. Bharuliva Jane
Sangh
C. 5 A Dange 1. Swatantra PRy
L. Ashok Mehta 4. Praja Sccielist Party
Code
el A B C D
2 3 1 4
A B s C
4 1 3 2
fef A B C ¥
2 ! K 4
fdl A B C o
3 3 ! 2

6. The Fihla was written in
2] Arabie in the Fourteenth Centuey
by 1bn Battita
it/ Perman in the Fifteenth Centuty by
Abdur Rezzag
¢} Persian in the Thirteenth Centurs
I» lbno Battuta

fd] Tealian in the Tharteenth Centory by
Marco Polo

B7T. Contribution of the manufacturing sector
to environmental degradation primarily
oocars dunng
1. procurement and wses of natural

TESQUTCES
2. industrial processss and activities
3. product wze and disposal
Belect the correct answer uaing the code
given below.
fal 1 anby
M 2 and 3 onby
gt 1 and 2 anky
1,2 and 3
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53, Tl # AT F e wHfE diien e
At + A= Tm o o I

qHT -
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{za) (aTed )
A TR 1. ger
B. T 2. AT
C. ARETEM 3. gedEmE
D v 4. HEa
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fal & B " D

2 1 + 3

iH

L T
G
Cr
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© A b - D

i A B C
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N4, W # enTE oaqp Feem ® owed
Froafafian & & s wft a4 A7
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2 R & mry e frams £

(o) AR AR, TOTTA FUR,
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jol s A SRR TR wewm Bfim
AT AT FareE A
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g8, TH-[ F -0 F oA gEfm FifET dh

T oHE R

qiam # Fr fim m 3 W wEn = ad I

I'i-ﬁr-[ -1

(A} (urdi}
e Pl 10 uedly agiee T
o Ty 2, WAA™ T '
Ta Il:ﬂgﬁ 3. R W
S T 4. g mimiae wA

¥
A B C D

2 3 1 4
i A b C &

+ 1 3 2
fof A B C O

2 1 3 4
fdf A B C D

4 3 1 2

a6, M m i o 6

jerp el TRl A = A o AR A

i) TEEH AT B ST B WA &

fey ] TR B TR AqE T WA o

fdr rel woedt § AR oD §TG R
(zafam)

£7. THAUR FGERT FA G faiA e g

e (T AR F T v Y

1. OTFDE Syl F I T T
2. S wiEAn 3 FREma

3. I6R I e fme

SERCRVE T ARG T Lk e
fe) ¥ 1
fh] W 2 T3
fr] ¥ 1o 2
fed) 1,2 3 3
|F.T. Q.




58. Which of the frllowing ts/are net cendral
tenetlsl of the Canatitution of Indie?

1.  Prohibite tlisctimination an
grounds of religion

2. Gives official status o certain
religion s

3. Provides frecdom (e profess any
religion

4. Ensurezs ecquality of all citizens
within relipious communities

Select the correct answer Using the code
Eivery Delow,

@ 1, 2and 3
fbl 3 and 4 anly
for 2, 3 and 4

() 2 onky

59, The 'Bur Sagar’ is

2l & medieval rcreatiee of  MUWIIC
composcd by Tansen

ibl & poerc work of Surdes
fel  memcries of Bahadur Shah Zalar
fl! MNune ol the above

&y, Private inyestment in Indian agoiculture

i mostly on tahowur-saving mechaniza-
tior.. This could be 8 response to

f@) neing productity of aericutngral
&ctor

% neng incquality in agriculture

) rising wages and lighter labour
marloat

fel)  debt write-off by the Governmont

B-AGVE=-0-3MOf 14

Gl. Which of the following facts are related to

Eurma (Mysnmarj?

1. It shares its bhorders with Indis,
Ching, Bangladesh and Vietnam.

tt 13 ruled by a military government.

4. The National League br Cemociacy
was not allowed to contest the
elections held in the year 2000,

4. Myanmar % a2 member of ASEAN.

Select the cormact answer wsing the code
given helow,

faf 1 and 2
2, 3 and 4
fof 1, 2 and 4

ff 1 and 2 anly

&Z. Who emong the fvlcwing was net a

paititer at Akbar's Court?
gy Daswanth

fh Aldlus Samad

fo)  HKalyan Daa

fdl Hazawan

63. Which one of the foliowing 15 the major

gouree of gross tex tevenue |GTR] for
the Govermment of Tndig?

ful Intome tax
(bl Corporation tax
fo) Customs duty

fdl SBervice lax
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fa] 1, 233

fh) FER 2 MY 4

fol 2,3 ¥ma

fd} FEE 2

%9, 'Hgf AR @ RF

fa} ATEA TR 1A AT T Q@R TE8y
fb} TR Fh FT =]

i) VRIS TR AW = il
i) oI A FE

&0. e w3 f fadm e st g9t 26

T T ¥ U TR Wt % A 9
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{a) T 8 TgE g e
by M QA T e

fef AT W AemhE] A oTaTER WM A
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fid] TTEN T FOT 61 95 W A e
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3. TH 2010 T fE A T e A owh
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T 4t

4, AT ITREAT (ASEAN| # HRET ¥
SER R e R ek Sl
jap 1 ¥n 3

ik 2, 3 4m 4

job 1, @ 34

) A1 AR 2

. 82 T H BE TF F o A A ik o

ja) THAE
b AR
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(&l =S A
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fu) TR

fa) Trm-=3

fry  F -
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6% Which of the oloewing wre membets
of BRICS?

(@l Bhutan, Russia, India, China and
Eri lanka

(¢ Bruzd, Kussia, india, China and
South Africa

(o Brazil, Russia, Indonesia, China
and Sibgapors

(d] BHangladesh, Republic of Korea,
Indonesia, Canada and St Lanks
65, After the death of Shivaji, thers was a
[ight for succession betweat)
frif Shamnbhan and the widow of Shivaji
(7] Bhambhej end Bajirac
oy Rajaram and Shambhejp
fcdf Meoe of them
86. Which one of the fllowing i a
npn-renewable resoumer
fal Solar enacgy
{Bl Coal
fo]  Water
fd} Fizhenes
&T. The ‘Panchaheel Agreement” for praceful
coextetence was gighed betwesn
faf  India end Bhutan
il [nedia and Nepal
fe)  [ndiz and Chins

fdf Tndia and Pakistan
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63. March List-T with List-I[ and =zelect the
cortect answer using the gode aiven
below the Liats

List-f
(A wuthar)

List-iF
(Hork)

A, Bomaedeva 1. Malavikagrninutro

H. Kalidaga 3, Kuthasantsagara
C. Bhasa 4. Chauraparchgsics
[ Bikana 4. Suapravasouvadeita
Coade
iaf A E C D
2 1 4 g
oA =] C‘ I
] 4 1 o
<} A H C ]
2 4 1 3
4 A B QD
3 1 q b

69, Which one of the following is ot an
example of exterpalitizs?

i Pollution of air by a cement foctory

j/ Healih hazerd cagsed to the peraon
due w smoking by himeelff berseli

£} Smake coming aut of neighbonrs
vehicle

(] locrease in land price of adjacent
Flots duc to congteystion of a coad
by the Covernment

0. Fic + 20" i3 lhe shodt oame far
fl  Millenniom Develspimant Gools

M Dnated MNadona Conference oo
Sustainable Developmend

[c) Eerth Zumstil
(] Post-2015 Development Agenda




&4, i 3 8 7 BRICS ¥ mew #7
fe} MEW, FO, HTA, S 300 sieE
bl FTAA, TH, YT, =i 2w =i o
o s 1 Rl

(] AT, FIET TR, SRR, e
Hrr e

65, T I & vury, slEEE & B 3
oo 1= wE g

fa) Myt 2w faEr T
) AT i AT

fct e = e

] T & i R

66, FETARET 3§ FF-1 T, PSR fma
L4

fa)  HH
fbo)
fed THI

fd) FEEITEH

67, TiET #E-ATm % fAr TaEie =
Pt 3 % fers <= wmafa g e

fa) WFA W EH
AR e
fe) ama s =

TR o B i Ba
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&8, TH-t | FE-T F my witw Rtm s

Hiewt F A i gz o I
grm

ety -1l

(#ers) (F)
A. WDEE 1. OGS
B. ¥hER 2. Fengfvem
. 9MH 3 Thueins
n. fawm 4 IR
HE | _
f A B © D

2 ] 4 3
b &4 B © D

3 a4 1 2
e A B C D

) 4 1 3
fdf A B C D

3 1 4 2

9, Tmafafiam 3 & @ -m o3, w1 s
T 2
fe) Pt diviz FroEe + 20 79 F 9gEW

fb) ¥ AR T o TR A F O AR
e

fr) WEER F FTEA A 20 T
fdj W TH HEF A F Toren ofaee

@i i 8 i

TO. 'fiEt + 207 TR T ST Tm B
fay TEET =M T
(bt O T WG TR He
fe)  weat ITET HEEE
) 2015 % ¥R & faEa ) sRRe

[P T O




T1l. Patanjali was

o} 8 philosopher of the “ogachars®
sehiool

& the auther of & book on Avurveda

fej a philosopher of the Madhyamika’
schopl

fd} the muthor of a commentary on
Panini's Sansknit grammar

i T2, Which of the following statements n
' the cottext of incoms-envirenment
ralationghip iefare corract?

1. Pollution trends tend to follow

an inverse U shaped mlabionship

i acroas different stages of economic
development,

2. In the bepinning stags. pollution
increpses due o urbanization and
' mmed st ralizatian,

3. Inthe later astege, poliuticn declines
due te atructural changes towerds
BATYICEE SEChof,

3elect the correct answer using the code
given below,

a1 ooly

B 1 and 2 oonly
: feb 1,2 and 3

| {d 2 and 3 only

T3. Which owne of the [kllowing s not a

member of MERCOSUE (Scuthern
Common Market)?

fa) Argenting
fo} Paraguay
{c)  Urueguay
& Chale

B-ABVB{O-TMO/fIA

I8

T4 Match List-1 with List~ll and select the
coiTect Bngwer using the code given

helow the Lists !

List-! List-lI
{FEre) {Rerrion)
&, Shashanka 1. Assam
B, Kharoela 2. Maharashtra
C. Sunuka 3, Orisgsa

I}, Bhaskara Yarman 4, Bengal

Cocle
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4 2 3 1

w4 R O N
1 3 2 4

il

felf

TS, Which gne of the lollowing represents 8
progreasive tax struaciaces?

{ef

b/

i

fedy

Tax tare 15 the same across all
incomes

Tax rate increases 88 Inoome
increases

Tex rare decreases as  incoms=
ibcreases

Eazch  bhousehald pavs eyual
ameunt of tex
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T6. The Constitution of indis goarantees

freedonm of theuglt and expression to all
itz citizens eubject bp

1. implementation of Dirgctive
Fronciples

Z.  Fundamental Duties
3, Right wo Equadily

Select the correct answer ueing the code
given balow,

gl 1 end 2 only

ql‘h,! 2 and 3 only

jc 1 only

i) 1,2 and 3

T7. In ancient Indie, the Yaudheyaz™ weare
) & sect of the Buddhism
Bl a sant of the .lainism
frj a republican tnbe
fd} Vegeals of the Cholaz
T8. Which otwe af the followirg 13 an example
of a ‘halural monopoly'?
i) [ndian Airlines
{b}  Della Jal Board
[} Delhi Trapspoert Corporation
(d)  Steel Authority of Indis

79. Which one af the [ollowing is net a
compenent of the Eealist Theory™

fuj The State is the presmunent actor

) Etate soversignty is important
for the affirmation of juridical
authaticy over rerfory

fol The primary obpectve of all States
iz survival
fdy Survival cao be  assuared in

cooperation  with  international
argarirabions

B-ABYB-O-TMO/ 1A

8. The fastiakurmorecharfe or Talea of Ten

Frincea' was compased by

fal  ETwAr

fbt Banabhatta
jc]  Bhaza

fd) Dandin

81. What is meant by price discomioation?

ia} Increase in price of & commadity
cver time

j&f A situation where the same product
is sold to different cobsurmers for
different prices

fof  Suvbaidization of a product by the
Government o sell it at a lower
price

i} General dectease in price of a
commodity gwer Lime

82. Which one of the Tollowing does not fnom
part of lmmeanue]l Kants theory of

‘perpetual prace™?
faf Republican Constituiiobalistn

Bt Pederal contract among States to
aholish war

it World Governmend
(4] Tranzformation el ndirvidual
COMECIOULSICas
§3. Borobudur iz the mite of

(@ a huge templ of Vishnu and
Ehiva in Jawa, builk in  tha
1Mh Cettury AD

) an enarmos Stape in Joava, built
i the Sth Cenlury AR

fe]  a magrficent palace of a Chola
King in Tamil Madu

{di & Jaio Monaatery in Gujarat
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B3, Whar is meant by Tuhlic Goml™®

[l A commodey prodoced by the
CRoverement

{8 A commodity whoae benefita are
indivisibly sptead among e cotire
COImmunity

fel A Government gebeme that henefig
the poor howsshaolds

il Any commedity that i3 very popular
amonpg general public

83, Whizh ooe of the followibg stateoneonts
about the procese of the FParliament o
make osw States i3 mot cortect?

il The Parliament may by law form a
new State and alter the boundanies
of names of exiating States.

M A Bill to thiz eflect cancot be
introduced  in the Pariament
excent on fhe recopmendation of
the Presidend.

(e} A Bill bo this affect may be referoed
by the President to the Legialatune
of the affected State,

fd} Such a law will fall under the
purview of Article 365,

8&. Which ote of che following atatemeonte
wilh regard o Indis's cconomy between
1814 to 1860 is net correcr?

fal Betwesn 1314 and 1A50, fowr
commadlifiea  domineted  1ndia’s
exporta—raw  silk, opnnm, cotton
and iodiga,

I Between 134 and 1360, [ve
commoditice  dominated [ndia™s
exports—raw silk, opiun, ocotton,
indigo and jute,

red lodige and e silk
plocessing echniques.

reuired

] Indige and raw =ik were finenced
by fereipn capital.

E-ABVEO-IMOf1A
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_:E-T. In riew of the fact thet kerozene is an

mferior good it Tndia, what is/are its
wmphcation[s)?

1. As houacholds pget richer,
COnsuTe less kemsans,

thew

2. Ovar time there 15 & dechine i
quality of kerosene.

3. Government oeeds to
subazidies on kerosene.

shop
Select the correct answer usig the code
miven below.

[ 1 uonly

M) 1 and 2 only

fed 2 and 3 anly

fdf 1, 2 and 2

Which of the Intlvwring ataternenta with

regard ta cilizenship provisiens of fthe
Conatitution of [ndia isjare correct?

1. Mo person shall be a citezen of lodia
by virtae of Article &, or he deemed
to br 2 ortzen of [ndia by wirtue of
Article B or Article &, if e/ she has

wvoluntarily acquired the citizenship
of any foeign 3ate.

2. The Pathament has pawer to make
any provision with reapect to the
acquisition  and  terrdication  af
citizenship and all gther matiers
Telating tnr Cirizenship,

Select the correct abiswer using the code
mven below.

fral 1 only
{2 ooly
fc! Both 1 and 2

i@} [Meicher | nor 2
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B9. The protechon ageinst armeat  and 21. Which of the ollowwng stalementy about

datention  under  Arcich: 22 of 'the
Conatitutinn of India is aet availatle w

1. an enemy alien

2. & person  deteened under a
preventive detentinn law

3. a loreigner
4 an overseas citizen of lndia

Select the comrect answer wsing 1he code
giren hekow,

fal 1 and 2 only
jbf 1, 3 and 4
ol 1, 2 and 3

gl 32 and 4 only

), Which of 1he  followinog  stalements

about the Hastinge Flat of 1772 isfare
carrect?

1. Each diztrict was ta have a civil and
a crimital Court.

2. The Judpes were helped by nateee
asstasgrs who were akkdlled in
Hindu and Talammic faws,

3 The Sadar Doiwani Adalat was
mainly meant to settls mercantils
cases cxcoeding ® 10,000 in value.

4. Theae Courts did not put into place
any procedursl improvements.

Zelect the comect enswer uang the code
given beloww.

faf 1 and 2
M 3 and 3
fef 2 and 4

g} 2 ank

E-ABVE-O-IMOf 1A

the formmation of the lodian Mational

Congreas are trne?

1. The ndian Mational Congress was
formed 8t a mnaticoal consention
held in Caleutta in December 15885
under the Presidency of Blotilal
Mehru.

2. The Jafety Valve Theoty rewarding
the formstion of the [ndian
Matiotial Conpress emerged from a
bicgraphy of A. O, Hume written by
W i Wedderbarnh

1 Ap rearly decision was that the
Frezsident would be from the mame
region where the sessian was o e
held,

4, W. C. Bansgee was the first
President of the [ndian Hational
CONETESS,

Stlect the commect anawet using the code
Eiven below.

fef 1, 2 and 4

B 2 and 3

fof 2 and 4 onby

1 and 3

B2, Which of the [pllowing factera led o

2 decline m anflatinn ke in Tndia

during 2014=2015¢

1. Peraistent decline o crude oil
prices

2. Softnese in giobal prices of
fradablea such a5 edible gils and
coal

3. Tight smonetary policy puraoed by
the Peservye Bank of India

Select the corract answer Nsag the code
given helow.

{g} 1 onty

&' 1 and 2 only

2l 2 and 3 only

[ 1.2 and 3
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83, Freedom ol conscieoce under  the

Constitution of lndia is subject to
1. public order, maraliey and beabeh

2 a law providmg for social welfare
and refarm

3. opening Hindu religions instingtions
of a public character to all Hindues

4. defamation or incitement 1o an
offence

Select the correct answer uzing the code
given below.

fﬂj' t| .EI- 3 E.ﬂ'l:l. 4
i L, 2 and 3 only
fef 3 and 3 onby

1 and 2 only

o4, Which «of the following Fundemental

Kightz iz/are available to non-citzensy
1. Esdquadity before Law
Right against Discrimination

Equality of Opportunity

A ow

Protection of Lile snd Personal
Liberty

Select the corrent answer usng the code
given belgw,

fal 1 only
Bl 1 and 4 only
fel 1, 2 and &

fdy X oand 3

B-ABVB-O-IM} 1A

95, Which of the wllowing statcmente
about the formation of the Conatituent
Assembly izfare corroot?

[. The members of the Conatituent
Aszermbly wers chogen oh the basis
nf the provincial elections of 19446,

2. The Conatituent Aszembly did pot
mmclude cepresentarives of  the
Princely Sfates,

3. The discussiona  within  the
Constiluent  Assemblr  were not
influenced by opinions expresssd
by the public,

4. In order w create a aenas of
collective participation, submissions
wers solicited from the public.

Felect the cotrect answer using the code

givenn below.

fal 1 only

fhl 2 and 3

fol 3 and 4

fdd 1 aqul 4

6. Which of the Ellowing statements abouwt

Jsatieaa Phule's Setyashodhak Semaj
Movement in Maharashtrs is/are true?

1. The Salyashodhek Samaj wae ast
up in 1873,

2. Phule argued that Brahmins wers
the prapeny of ‘alien” Acyans.

3. Phule's focus om  the Konbi
[asanicy m the 158808 end 18590=
Ied w a privikeging of Maratha
wdentity.

Select the correct answer uaing the code
given below.

&t 1 and 2 only
B 2 andy

fcf 1 and 3 amy
il 1,2 and 3
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®T. Which of the following laws have been
tepeaked by the Constituten of India?

1. The Governmett of Indie Act, 1933

2. The Indian Independentice Aet, 1947

3. The Aboltion of Privy Council
Jurisdiction Act, 1949

q. The Preventlive DFetention Act, 1930

Select the cormeel anawer using the code

givens below,

w1 and 2 only

M 2 and 4 only

i 1 and 3

idy 1,2 and 4

S8. Which of the following statements about
Maulvi Ahmaduilah Shah, who played
an impottant part in the Bevolt of 1357,
i&fare corTect?

1. He was popularly known as Danka
Eheh or the Maula with a drum,

Z.  He fought in the [amous Battle of
Chinhat.

3. He waw killed by British troops
undar the command of Henry
Lawrence,

Select the cormect answer using the code
giver; below.
' fat 1 omly
b 1 end 3
fcf 2 and 3
fdl | and 2

o9, & writ of Haheas Corpus for the release of

A person can be 1zaued

1. where the arrest ar detention has
wiken place in contravention of the
procedure established by law

2. to securs the release of & peraon
imprigoned on a criminal charge

3. whare the artest heg taken place
for contempt of Court aor the
Patliament

B-ARBVE-O-JIMOS 1A
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Select the correct answer uamg the cods
given Telow,

fgl 1,2 and 3
fb} 2 and 3 only
b 1 only

fd] 1 and 2 Gnly

. Wha amohg the following ie  the

suther of the awwwbiography entiled
Acnatr Kegtha [1913]7

iaj  Satyejit Koy

I Rassundari Do

(o Ganesh Chandra Ghosh
fdl  Binodiru Do

. Which one of the lollowing statzments

gbout the Companies Act, 2053 is not
COTTECL?

iy The Act regulates the corporate
sector to make it accountabibe,

) Tt provides for Corparate Social
Eezponaillity.

] 1t provides maore ppportunities foc
new entreprerlrs.

j4] It enables wide apphcatiorn of
Infoarmation Technolopy.

. Which one of the [ollowing changra has

rof heen made to the Citisenship Act of
fndia by the Anncndment in 201579

ferp The Owverseas Citizens of [ndia will
e be called the Oueracas Citizetip
ol Indie Cardholders

(Bl The HNon-Resident Indianos are
entitled to vote In elecrions in India

fef  The Persons of Tndian Qrngin hayve
been placed at par with the
Overseas Citizens of India

{d) The Persons of lndio Ongn are
now £ntitled to lifelong visa to visit
India
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e T 2|

102, aTA % FArEm afate § 2015 § g

7 fafaien 3 8 fR-m o oiads
T T BY

fa} VE T IO F s wim §
TETH TR W -4 F77 2

(b ATEE vy, wr & el oo

¥ O F

fo) VT T F =i ® v w rawdt
mﬁﬂaﬁ#mwmwﬁ

fdf WA T % =ufE o9 I 9 ¥ R
EICEREC e i
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103. Name the French revolotionary who

wrote Declaration of the Rights of Womam
and Female Cihzen.

fa] Olympe de Gouges
i Wangy Ruhling
fe)  Maximilien Robespierrs

idl  Bfary Wollatonecralt

104, Which one of the following statementa

atout Efecteral Government b Inda 3
nat correct?

fal The superintendence, dirsction and
cotitrel of elections are wested in
the Election Comminsion of ndia,

(b} There iz one geneml electoral roll
{or avery territorial conatituency.

e} The Parliament has the power o
meke lews rlating o the
delimitation of constitusncicy.

fd}  The Supreme Court of [India has the
authority tr scrutimee the walidity
of a law relating to delimitation of
constitneangi=g.

The electronic vobung machines are
developed jointly with
1. Bharat Heavy Electiricels Limited
2. Bharat Electronics Linited
3. Electronica Corporstion of loda
Limited
4. Bherat Sanchar Nlpatn Limlted

Select the cotrect answer using the code
given below.

fof 1, 2 and 3
fe) 2 and 3 only
fed 2 Awed 4

id} 3 end 4

B-ABVB-O0-JMOf LA

135, Which one of the [@ilowing i3 nof &

moxmmendeton of the Fourteetith
Fineree Cotmmission?

ja) Share of States in Central Diviaible
Poaol in ingreaged from 32 per cent
ta 42 per cefnt

B Area under forest cowdr i an
impartant varigble in dismibution
of States” shere among Siatea

et Fiacal dizcipline is dropped a8 a
variable in distribution of Statss’
share among States

fd) Sector spreific grant |8 recome
mended a8 in the previoua Finance
Comrmissions

107. Khen 3Shabsb Osmean Al Stadivm ie

lcared At

faj Warachi
{& Dhalks
fcj Patullah

fd} Chittegong

10B, May 3] is celebrated asz "World DNo

Tebacor Day' by the World Heslth
Organization. Whaeh one of the flleaing
was the theme of the "Word Ho Tobocos
Day, 20137

je/ Reise taxes on tgbacca

(o) Btop illieit  trade of tobacco
products

fo)  Ban tobaccy adverlsicg, promotion
and sponsorship

jdi Tobacco-res vauth




103, 70 wiE wEedt = oam maEm
fewiiTa M 7 w5z WE T U2 fhm
frfemm Tondt

fa) i T

(B T T

fe) AfFgiafTR it
fdy o SR

104, iR 7 T FFn (oedne meaaEe) & fam
§ T § § A v T W T 2T

‘ fa) PR = arfem, Bitme S Saem
qwA ¥ Tt s | fifeg
(b WEE WEEE Fafm-dn ¥ fwoww A
A FETs T &)
fc) THI % WM FEEA- o] & wiEee.wEd
FA A ) vifis B

fd AWA T THAY M F FaER-aE
omR-wmd] w7 & Auar # e
F & MR R

108, TR AN weff B o o w9 &
Tl o) and 27
1. A i iR e
2. nqﬂzﬁagfﬁwﬁ:‘iﬁia
3. IeEfteam Fitna = ghar fafite
4. v ger T fafide
A e, i, £7 w0 Tm = T T g
f2) 1,2 %3 -
fh) AR 2 A2
ol 2 MW 4
() 33N 4

B-ABVRE-O-JMO /LA

41

106. Frferfian § & wm-eh o, eEd fm amim

&) frErior i #7

fj #Em v @ F o ow
32 Wi # e a2 i B oom ¢

B} T % 9w W os A FEim Y
o - MT=ETER 49 U T i

o THROF oww R T D ftm e A
ity g 1w o % v T
A Ty T

d) T i R wiR e
fafire sl & fawrfon 1ok 3

107. TH HE" T AE a5 amtem 27

ll'cr; FITET
(L} ST

fcb e
{2 =Fiia |

108. 4 =W oA T 31 W oW R =

foy fm' e s % Preiafer 4 @
-1 1%, Tau T fiy e, o015’ 6
ferreeg 1

fa} T W F LT
fht TETE TG F AU SR W T

fel  WERE & frH, SRR wm YREA W
uitmiy £

fefy T - T

2 BTG




109. Government of which one of the follewitg
States hes {in May 2013] decided to
withdraw the Armed Fotoes [(Special
Powerg) Act from the State?

i Tripura
B Assam
fcj Wagaland
{2} Arunachel Fradesh

110. Which of the following statemetits with
regard to New Devalopment Bank
BRICS, formierly referted 1o 2% the

BRICE Development Hank, 18/are
COMmects

1. The Headguartets of the Bank is
situpted 6t Moscew, Busaia,

. K. ¥. Eemath is the first President
4t the Bank.

Select the correct angwer using the code
given below,

{@ 1 anly
w2 only
fe] Hoth 1 and 2
i@ HNeither 1 nor 2
111. Weibo i3 a3 social medie  platiorm
popularly used in
fal South Korea
&l China
fc] Thailand

id) Japan

B-ABVE-O-IMO /1A

112, Whe is the curment Vice Chairperson af
HITI Aavog?

fa} Raghurem Rajan
it} Arqind Panagariva
fc} Bibek Debroy

fdr V. K. Saragrwal

113, Which one of the following iz not
provided regular budpetery support by
the Biinistry of Defance?

(@ Himalayan Mountainsering Instituts,
Drarjeeling

f@] [ngtitute or Defence Studies and
Analydes New Delli

{c] Armed Forcea Tribunal

A Umited Service Instilution of India,
MNew Delhi

114, In Aprl 2015, india and Fmance agreed
b2 conrclude an  inter-governmental
rEgreament in regpect of which ope af the
ellowing platforms?

{7) Refale Medium Multirole Combat
Airrrafl

fb) Scorpene Submarines
jel  Elantry Mobility Vehieles

id)  Precigwomn Guided Munitions System




100, fefefias @ 4 9 = ™= i waw 3
(mf 2015 %) wmm w (frim wReh
AT 1 37 7= ¥ weA F vl R

fe) T
(o) AT
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fd)} FTTEA WM

110. < fedmoiz 4% BRICE & Wit B, ) 9
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1. T T AeR, v A e b
2. Feo Hlo FHm IF F TEq Ay ¥

H fae ™ 12 = Wm = W g
fal 4 ]

bl w2

fo) 1 2 g

idr W1 Hnada

111, = "@A difem o, 96 raeiba), W
AR T T Hem &

o) AT Fpn
B A

fc}  WHE o
{d) AR #

B-ARVE-O-IMQ /14

112. NITT 3TEm W wdam ey 9e 37
fa) TIEA T
b} mef i
fe) T Harfa

{dj e Fe AR

113, 147 Twem o fofefen @ f fem o W
i s e off o ol &7

fap ThoTer TN g, ol
B} T AOTR v faweme gam, 18 R
fe) TR = SHhaw

iy  Arirs S = o, | T

114. =0A 2015 # wmn ot wm Fofakn § @
firm wek wrEwTd & W § ameaTET won w
¥ fer wewm o2

fa) mﬁmmmﬁﬁzm
() A wgedt (mamls)
fo) T Sfeferdt it

(dy friem e Rifm fem

{B.T. O.




115, Which one of the following stateinencs
i% (neorrect?

fa] Indie 13 the third lergest importer of
the defznce equipment.

B India mestas mote than 50 per cent
ol ite Tequirement of the defence
equipment thoough mportz,

o Delence Ludget for 20152016
accounts for lega than 2 per cent of
the GOF.

{riji Certein  financial powers are
delagated ta the Viee Chief of Army
Sealf for capital acquistions.

116. ‘Arhant' is the name of
fal an infantoy combat vehicle
fbt R baltistic missile
il an attack helicopter

[l a nuclear powered subimarine

I i

117 Where was the 14th Asia Secuarity
Surmumit {Shaogri-La Dialogue) held in
May 241157

(o} Beijing
{7} Bangkek
foi  Jakarta

fdy  Sinpapore

B-£BVB-O-IMO/ 1A

118. Which ote of the following is mot correct
about the Defences  Research  and
Develapment Organization |[DRDO]?
fel DRDD waz locmed 10 the vear F95E
Jhl 1t i3 & network of 10 laboratonies

engaged 1m0 developing  defencs
technologies

o} DRDD operetca under the Mindstry
of Lelencs

fdf Some of its miajqer products inchide
development mizmiles, anaments,
light eomhbat aireralta, cho.

119, 'Red Flag’ 1% the name= of a joint exercise
between lndis and which one of the
Iollowing countries?
fz] Chine
fb} Seudi Arabia

il USA

{2 Japan

120. In MHovember 2014, which one of Todie™
beighbouritng countricsa allowed &
Chinese submatrineg to docly at one of its
portas
i) Bangladesh
fhy Eri Lanka
(o Maldives

fdr Palistan




115, frefafign udi § & 99-w o w37
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117. 7 2015 8§ 14 ol g fw qdem
(e -2 e ) el gan an?

fa) Hifam
fB) FF
fe) EEan

tdp e

B-ABVEB{=-MOSIA

&5

118. e uHmT i freem oA (DRDO) % A B

Freftrfiam & 4 FR-m0 ok T R
fa} DRI W 723 9 1958 3 5w o

by TE e dwifhest % Rem 4 el
10 WIS T e

{t} DRDO T4 934 % F81F ™ & 8

() FRET uATORR, TR OARH), TR qEE
=igars 2 v TE e

119. 17 w0 wma W e § 8 IR o

T i g A A o R
fa} ==

fh} HEE A

fo) e

FETRR

120 JEaT 2004 § wwm % #m-d o g

A = EEwit = AT TF wE0TE T EE T
H s

fo) HTFEWEN
fh) e
fal  HTEEE

iy TR

|B.T. O.
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